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1. Pick the correct statement from the following.
I L} Aggregates expands on heating
2. Ordinary cement shrinks on heating

3. Concrete offers a poor resistance to fire than any other building material

(A)  Only 11s correct

Both 1 and 2 are correct
(C) Both 1 and 3 are correct
(D)  All the three are correct

emeumeuanaupiled b sflwrer sapeanp CoibEsH&EseD.

1. Qaututu®sdenme Sremoen eflfleuam &g

2. Qautiutiu@sHenne sngmyem S &GS DS

3. wHp s @ sL@uwrenl QurmEsLer @UEEDGEUTE sDsTT Gurswrer § iy
genenoand QsTHEEDng

(A) 1wl @b sf

B) 1 wpmb 2 yHwene &l

(C) 1wpmbd 3 yfwueme sl

(D)  epenmd &fl

2 In the current trend, water to cement ratio is done by

\M Weight of materials

Volume of materials
(C) Percentage of materials
(D) Specific weight of materials

spsmeL Gursde, Bir wpmb AQuer allfigwrang Geiaumy Qeawtiu@éng
(A)  Qunsefler eren_enwis Qurpss)

B) Qurmsaien sar seteauls AUINISS

(C) Qunm seflen sgeipsmgl QuImSS)

D) QunmLseiien e erenenwis QUTDISS
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3. The surface of stone perpendicular to the line of pressure is termed as

M Bed (B) Natural Bed

(C) Bond : (D) Back

2(&5s Cam_iqn@ em@ssns 2_erer saaler CupLigiiyy cren BienpsaL (HEmE).
(A)  ugeud (B) Qupensis Ligeuld

(C) Sevemriiy (D) smuuEH

4. A brickwall of any length having height 3.5 m above the plinth level, the thickness of

brickwall recommended for basement floor is

(A)  30cm O 10cm

(C) 5H0cm (D) 60em

SLL Sgssar wl’_L_gﬂ'aSl@,r_’r@ 3.6 m swpweLw aps e Baraperw Qsmsd seueny
2 ESaHHDG LB Libgierssiiu’ Gerer seuflen Sig e

(A) 30cm (B) 40 cm
(C) 50cm (D) 60cm
5. A wall which is constructed to protect natural sloping ground from the cutting action of
weathering agents is called
W Breast wall (B) Curtain wall
(C)  Counter fort retaining wall (D) Retaining wall

Qupaswunen sfleyemw AashHmear Amsellamd gHu@ibd Qeu g eflmHg LUNESTES S_L U@L HeurT

Qeuauny mpssiiLEns

(A) ariys seui (B) Aenyé sauit

©) ey smiie seur (D) grig seui
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6. The loss on ignition is restricted to 4% by weight when are gram of cement sample is heated

at a temperature of
(A)  800°C — 900°C ‘M 900°C — 1000°C
(C)  1000°C - 1100°C (D) 1200°C - 1300°C

aoL ddssHe 4% e s_EUUESSLULRder Curg @ Agmbd Adwer . wrflureg

eranp Qeuliufleneuie &OUESsLLBEDE.
(A)  800°C —900°C (B) 900°C - 1000°C

(C) 1000°C — 1100°C (D) 1200°C - 1300°C
The constituent compounds 6f cement in descending order of rate of hydration are
J{' C,AF, C4A, C,S, C,8 (B) C,A, C,AF, C,S, C,S

(C) C,A,C,S,C,S, C,AF @) C,S,C,S, C;A, C,AF

BCrpm eSpsHen @i cuflensuller Qe i 2 drar gpadsmy Gamobd @ geun@b

(A)- C,AF, C;A,CgS,C,S (B) - C;A, C,AF,CsS, C,S
(C) C;A,CgS,C,S, CAF (D) C,S,C,S,C, A, CAF
8. The edges formed by the intersection of plane surface of a brick are called
\M Arrises (B) Perpends
(C) Stretches (D) Quoin

Qemsdelan sar Copuriy Qe Heaugmd gpu@id efleflbyser Geiaumm sienssLREDS
(A) @meurarnbd A (B) eflsreésa

©€) sy D)  ppevariy
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9. The minimum specific surface recommended for using fly-ash as pozzolana is
(A) 225 m¥kg (B) 250 m*/kg
(C) 300 m*/kg M 320 m*/kg

caad Fmbueme eflomal yupdursl vwaupsgausiE Ulbsiorssiuuc, Qs
urUSen GenBauL s SiaTey,

(A) 225 m¥kg (B) 250 m%/kg
(C) 300 m/kg (D) 320 m%kg

10.  For circular concrete work such as domes, arch etc. the temporary supports of timber, steel
or masonry when used, it is termed generally as

(A)  Scaffolding (B) Shoring
( Centering (D) Form work

G saenry, auemenay LHMID WG eul L euigeu Samareny Cauemas(ahé; YLD, By sdeg Gangs)

Came duappre GCar@sstiu@n  spsrdls apl@ Qungeuns erem
S pésiiuHEng. 4

(A)  smssl@® (B) @ @sgmud

(C) enwwiorss (D)  augeus smmbd

11. Flooring materials such as cork, timber and rubber are
(A) good in sound insulation alone
(B)  good in thermal insulation alone

\V good in both sound and thermal insulation
(D)  bad in both sound and thermal insulation

g&es, Mb wHHb Qruut Curenm semS@b AurmLser

(A)  @dls ariude vl Hib perprareney

(B)  Geudiub smiuféd wl (b perprareney

©) gl whpw Gauiub dw GrereLwb sriuSed Bapretame
D) @ whpb Geutiub 8w GramaLwb smiudd Qs Lme
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12.

13.

14.

Local attraction in compass surveying is due to
(A) loss of magnetism of the needle

\M presence of magnetic substances near the instrument
(C)  incorrect levelling of the magnetic needle

(D) friction of the needle at the pivot

BHevs a1 [ He Siersmsulle 2 arellé seuiéd @same gu@Ens
(A) eamflfen snhsssameno GIOLILISTD

(B) 2 usjensdneg simarawulle srhs GUrmET GmULS

(C) &g ealenu Seupns FLUILHSSHEuSTER

(D) s ewwsdle gHuBb parfluyenLw o_gmiellerme

The working principle of an optical square is based on
M double reflection (B) refraction

(C) double refraction (D) reflection

galflwp ssrsden Caume Gaiib gsgeub Gzl durnssierars
(A  @rien Gydlueiiy (B) gafleflosd

(C) @i gafldlsd (D) AQrdlueiiiy

Clinometer is used to measure
(A) Inclined line (B) Angle
(C) Straight line ‘ M Slope

Garenr el Gens sjeniLsHEGL LwaUGESsUILGEDS
(A)  sfleys Gar(® (B) GCamewnbd
(C) CpraCar® (D) &fley
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15.  The height of instrument method of reducing levels is preferred when
(A)  there are no intermediate sights
(B) there are no foresights
(C)  there are large numbers of foresights

M there are large number of intermediate sights

s@flol L Smss sansdl SiTEms el s@w ewr epepurars Gbs Gede Weab
eflmoulu@GEpg

A)  @eLiul unima seT@asdr @dorsGung
(B) ypaCaméeE unimea SeTasar @owrsGung
©€) s aanefsmsile waGamég Lniame SiaTmasar BméEwtung

(D) afs aarailsmsuiier e Ul L unrerau SieTaeusET BméEwCung

16.  For plain bars in compression, the values of bond stress for bars intension shall be increased

by

(A)  60%
(B) 40%
(€ 35%

M 25%

BuéssHgierar Apaflauner sibls@rée, Qupelmslgidrar sibiscfen Genemriiy sensey Sipsaeim_

eflsan® sifafssmbd
(A) 60%
(B) 40%
(C) 35%
(D) 25%
ACE/18 8




17.

18.

19.

The magnetic bearing of a line AB is 200°. Find its true bearing, if the declination is 10°E

S 20 B) 190°

(C) 220° (D) 180°

am AB arenp Gaml e anpss HossGanar 200° G, JAS@DLL STHS @nésn 10°E aafla

@ w silune Smsweraned sy Ssa b
A)  210° (B) 190°
(C) 220° (D) 180°

In Simpson’s formula, the line joining the top of the ordinates is considered as
(A) Circular \V Parabolic
(C) Linear (D) Elliptical

Abseflén snamim’_igd G5 2iEfar Gopudaaiow Gmarsgn Car® Geaaunn sns0uREDE
(A) eulL eugauld (B) wupeauememubd

(C) GpCl;mL'_LLb (D) fereul L augeud

In light-house is visible just above the horizon at a certain station at the sea level. The
distance between the station and the light-house is 10 km. Find the height of light-house

0.06735 m (B) 0.6735m

(A)
y 6.735 m : (D) 67.35m

sL@ wiLiHed en GHUIL foousa Asrhauraipg snp CuGe ¢ somsmy eflenéaid
sanasE youu®dpg. feawusdpeh somsmr dabssdhen @e Guwren gryo 10 km.
sonsm] elasasder 2 LTsmsd s [y SsaD

(A) 0.06735 m (B) 0.6735m

(C) 6.735m (D) 67.35m
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20.  Identify the incorrect match

(1) Topographic surveys - Unearthing relics of antiquity
(2) Cadastral surveys —  Absolute location of point
(3) Mine survey —*  Different strata in the earth’s crust
(4)  Military survey —  Natural features of a country
(A) (1) and (2) ¥ (1), (2) and (3)
W 0@ ®anda) D) (@), (3)and (@)

gseupnal Aunpdyararaeusamers se By ssa)ib

(1)
(2)
(3)
(4)

(A)
©

@Lellenés arsms - uprstTosder yms Glamer Carerrg. oT(HS50
fle erévema enEams - enyaaide smdurer siemwellsms oidlsa
SRS SETHEDS - gl CupuypsHle 2 arer AeucuCaum 1B &E@s6T
Qrrgnieu DeTsans - R Briige @uhens bsmisaT

(1) opmid (2) (B) (1), (2) wppd (3)

(1), (2), (3) wpmid (4) D) (2), 3) Hmd (4)

21.  The following sights are taken on a “turning point” in levelling

A
N
©
(D)

foresight and intermediate sight
foresight and back sight

fore sight only

back sight only

sULBSsIs Hmbb yerafluild Seaeumb Crrégsdr erHaastiu@eamen

(A)
(B)
©)
(D)

ACENS

penGprée wnmib G LUl Crrée
paGpréE wonib NeCrrée,
WenGpréE i (Hid

QenCrré@ wi_(Hbd
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22

23.

24.

For indirect ranging, number of ranging rods required, is

\‘/4 B 3

© 2 D) 1

wenppsiorer @L ki@ Nssese Camaiu@ib Crraw Cardasatan erameanfsans
Ay 4 B) 3
<€ 2 (D) 1

The hypotenusal allowance per chain of 20 m (metric chain) length, if the angle of slope
is 60°

(A) 02m wn/zo m

(©) 2m (D) 0.02m

sflaysCanemrd 60° arafled geau@eunm 20 m Seraperw smfladulien (Gl Mé srmdlel) Qabubsug
@geum@wn

(A) 02Zm (B) 20m

€) 2m (D) 0.02m

The permissible error in linear measurements of precision works like boundary demarcation

18

(A)  1in 3000 M 1in 5000

(C) 1in 10000 (D) 1in 1000

gomasCami oL aummunsse Curanm godlwwrer GCoumasghssmen Crir&Gan L ereneuuded

D@0 EHEEm g W1 Senp eTemIg)
(A) 3000 @e 1 (B) 5000@e 1
(C) 10000 @e 1 (D) 1000@e 1
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25.

Consider the propped cantilever and fixed beam shown in figures.

4 kN

‘ﬁ‘_sm_’l B a 8ml 8 m E
Ag(—“‘ m— % Ag< 16 m N7

4 kN

Consider the following statements regarding the 2 figures.

Statement [ : The fixed end moment at A of propped cantilever is 12 kN-m

Statement [1:  The FEM at A of the fixed beam is 16 kN-m.

(A) Both I and II are correct
I is correct and 11 is false
(C) Both I and II are false

(D) 1IIis correct and I is false

uLgdld am_guerer ol Gon@sr@iens whmb gy L Smss sms.

4 kN

- Q ‘ A B
16m — >

—N

Gvan(® uLBmsamenb GflHs QsrBésiulHerar QerHOpr_isamer &(H).

Qenplpmil:  aplGnGsr@rmsda ‘Al Ggiyapaen Hmiiyeno 12 kN-m
QempGpm_i I : Gy eflC L S8 ‘A'dn Qg L1y apenar Haptiyenn 16 kN-m.

A I wppw I Qrew@®n &

(B) 1af I geugy

©) Twppod I Grar@w seumy
(D) Il&flsaum
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27.

The method which,
(1) is very convenient for the analysis of curved members and non-prismatic members.
(11) could be used to analyse the structures upto three static redundancies

(ii1)) was proposed by Hardy Cross

Moment-Distribution method

M Column-Analogy method

(C) Clapeyron's theorem

(D)  Slope deflection method

b5 .

(1) auenar o ML pmib UL L swder 2 pitiysmer uguumnie Qsliw Qsersfluwnneg.

(i)  eperm Heoulud Blems sl ey 2-drar sLLmwliLsmeT LGUUMie| el LweGL.
(i)  ammig Syrev eremucurTe (peGomBluliLlL g

(A)  Amuyenwl udliey apanm

(B)  gneir @liepL_enid penm

(C) AQerulyren Cammb

(D) a&fla| ellewss pem

How many influence lines can be drawn, one for each section of the beam when a unit load

rolls over?

M infinite . (B) three

(C) two (D) one

P BIOEG S Gﬁh'_l_g@d) o mEenbGuTs, am WfNasdsramns, assman cmaras Ganbad

GUEITIICITLD?
A)  apyepp (B) apermy
© Qe . (D) @em
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28.  “The bending moment at any section of an arch is equal to the vertical intercept between the
linear arch and the centre line of the actual arch” is,
(A) Lame’s theorem (B) Reciprocal theorem
w Eddy’s theorem (D) Maxwell's theorem
auenareunen SenwoLiden (arch) eps em Gflellan auamardmbyenn aeaug Crflwed euamarauran
Sl wHmib flsp eumeraunar semwlfan amowuCst( Gmasada Qstigss @ wnhéE soib
Y GWD. B,
(A) Gabev Gammid (B) eadiflens Capmib
(C) el Casppbd (D) GCuéaaQaidwen Canmbd
29.  Efficiency of thin cylinders to withstand high internal pressure is increased by using
\M coaxial cylinders (B) longer cylinders
(C)  higher thickness (D) larger diameters
285 261 WEHHMS STRGDLIRLNE, Quer e maasalar Qeuddper, eaben uwenu(HsSl
SfswrssiuBdpsg
(A) Qomewr oiés o mHamenser (B) fHemoren 2 menerser
C) =dssgiuyser (D) Qufiw el L kiser
30.  The ratio of equivalent length of a column having one end fixed and other end free, to its
length is
@ V2 2
1 1
© —= D) —
& (D) >
2 poen Gguurseud, wpwpoa CAsmisrsebd oea g glela swamer SasHbeLb,
BearsHn @b 2 arar eflflgn
A V2 B) 2
1 1
©C —= D) =
=2 (D) 5
ACE/18 14




31.

32.

A long construction member of uniform section is to be lifted using ropes at C and D.
(see fig), which causes bending moments due to self-weight as shown. To minimise the peak
value of bending moment, the overhang ‘b’ shall be such that,

k—b4>T Tn—b—ﬂB
A C E D "

s
[ »

2
o~ MN—"

(A) M,=0 \M'M,=M2
L

© M,=2M, (D) ==

o Bemonen, Eymer WA@aiyemLw s_Burer 2 guy, C wppb D & suilpsermd gnsaiuEbGurg),
UL G860 HTig Wil SW ereLwme euenet SmuLen gHuGHDS!. auanendlmuiLeniouden 2 &5 wéliemu

Apowrseausnd, Asmmie ugdlan b’ aaug Gaanny Qmés GauamHd.

l"—b—’T T‘—b—’lB
A C D,

\ E
m
o~ m—
A M,=0 B) M, =M,
© M,=2M, ® b =§

The theoretical maximum value of Poisson’s :y,u) for incompressible substance is

(A) 045 0.50
(C)y 0.55 (D) 0.44

@ Sipssefluan Aurmeiar Cam_um_{ gpenp Umbevmen efldgid (1 )-an QuH wHL,
(A) 045 (B) 0.50
(C©) 0.55 (D) 0.44

15 ACE/18
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33. A steel rod 15 cm long is at a temperature of 15°C. Find the free expansion of the length
when the temperature is raised to 65° C,
Take @ =12x10°/°C
E =200 GN/m*
9 mm (B) 3mm
(C) 6mm (D) 8mm
15 Q&8 Bambd o drer @ 1.°@ sndufler Qautiuflena 15° C wyEn. oigen Qautiufleow 65° C s
e wiigsuULEWLEUng), H&sbd grema eflfleuenL b Harbd ereucaarey?
a=12x10"/° C erenayid
E =200 GN/m* eremeyb Qanerns.
(A) 9 mm (B) 3mm
(C) 6 mm (D) 8mm
34. Relation between E, K and C is given by
9KC 3K+C
E= B) E=
M 3K+C ® 6 KC
6 KC 3KC
C = E =
© K +3C D) 3K+C
E, K wpmib C @eveusaiian 2 pevas Epsasam_aupile ereucunpra @i emb?
9KC 3K+C
A E= B) E=
& 3K +C ®) 6 KC
6 KC 3KC
C E= D) E=
© K +3C ©) 3K+C
35.  The moment required to rotate the near end of a prismatic beam through a unit angle,
without translation, the far end being freely supported, is
2EI 1EI
A S By ===
(A) 7 (B) I
3EI \‘/ 3EI
C — S
© 4L L
e ulLs i sdlen gy weoen Cemug smdurs QmeEnEUNTE, s LESSE e,
BETTO®D, R @@ Caramb spdeaugn@ Caamanwnear Sl eeaug
2FE] 4EI
A = Y ==t
(A) I (B) 7
3EI . 3EI
C — ny 2L
©) il (D) 7
ACE/18 16




36.

37.

38.

The strength of the beam mainly depends on

(A) bending moment (B) centre of gravity of the section

y section modulus (D) its weight

e Al L_sden euedlenio adtug,] Wp&Ewons Gens sniHg aTag
(A)  euenar SlmLiLento (B) YGfiellen FriTliL enpwwID
(C) Aifley Gewraid (D) oimem cren

In the Mohr's circle of strains, radius of Mohr's circle gives the,
(A) Minimum value of normal strain
(B): Maximum value of normal strain

(C) Maximum value of shear strain

y Half of maximum value of shear strain

Gromiah eflse eul_ L S8le, siflen 2umb Superer sraupannsd SmEng)
(A) QsriiEss dlswden Smio wdiy

B) QariuEss clswser QU wHi

©) pose svsdlen Aumw i

D) posE siHarn Qumo wdudd urd

The rearrangement of randomly oriented grains in the direction of tension causes,

(A) permanent strain

W strain hardening

(C)  volumetric deformation

(D) rupture stress

@hss Corésdland Hoswewa Aupp G Si@oliem, Budasde oo GuRETEEGLE QoS
2_GRTL_MT&HEGHD

(A)  fleva eflseuid

(B) &fse allenpiiy

(€) Qzres peley

(D) Awseys smsey
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39. The depth of centre of pressure on a vertical rectangular plate 4 m wide, 3 m high with

water upto top surface is

(A) 1.00 m (B 15m

y 2m (D) 25 m

gm 4 5 s, 3 8 cwpd Qsran_ Qsdicus 50, sgan G ugd Biolisos Asm @
Aer@ssns appdullmagn Cung, Shol L s mbs Si(P&5 ewwGHen Byp1d

(A)  1.00 & (B) 158
(C) 2.5 (D) 2.5.8
40.  The specific speed of Pelton turbine ranges from
W@ 12t070 (B) 80 to 400
(C) 300 to 1000 (D) 1000 to 1200

Guemenn eflenawimlufen @Hlond L Cousid Epdaam_ ainbiiéd senwdpg

(A) 12-70 (B) 80-400
(C) 300 - 1000 (D) 1000 - 1200
41. If the scale ratio for vertical dimension is (Lr),, the scale ratio for velocity is
1
@ (L G T,
3
€) (@n)} (D) (Lr);

Qeruggsrean uflammogdlen siarey s (Lr), erafle, umiey Ceausglen oeray efldlgid

(A (Lr)} (B) (Lr),

3

©) (L)} (D) (Lr)?
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42. In a hydraulic jump, energy loss is expressed as

@ Q¥ ¥ (v —2)°
4y, Yo 4y ¥
bas —=np = ooy 1/2

(©) (¥ =) (D) (¥ —=n)
N V2 Yy Da

@b seawurd gHuBb Hned @pliemu Spasamammy S(Hlweomd

[ i B P TR
(A) (¥2—=21) (B) (ys—)
4y, Y2 4y, Y2
. : =l 172
(©) (¥ =2) D) (v =)
Y1 Y2 N Y
43.  The equation of gradually varied flow is expressed as
dy 8,-8 dy s,—8
A =L Os BTy el L N e
@ dx 1+Fr* ®) dx 1+ Fr®
dy s,-8 dy s,-8,
o P ¢ D e IS b ¢
dx 1-Fr* ) dx 1-Fr’

£ Hpps srdamio ghuBb Giogieurs o UL sSan soarun’_ent Epasen_a eT(pSeTLD

dy s,-8 dy 8,-8
A oo P S B o A N B 2
@ dx 1+ Fr* ®) dx 1+Fr’
dy 8,—-8 dy s,—8
C o O I D 2 _ b 4
© dx 1-Fr® D) dx 1-Fr’
44. In the case of drop down curve, formed in open channel, the slope of free water surface
dy dy
A — = =0
(A) dx (B) F g
dy dy
. —<0 D) —=1
dx O

@@ Hnhs snaamdle ghuBL @ £Cyp @i dlmareiie, Bt Godil L smiey

(A) fr - (B) = 0
dy dy _
© dx B ®) dx
p 19 ACE/18
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45.  The maximum velocity in a circular pipe when the flow is laminar occurs at
(A) _ top of the pipe
centre of the pipe
(C)  bottom of the pipe
(D)  below the curve of the pipe

P UL Gl aufls Sirumie pLsgib Qurs, sidls Causid Eipssan G580 pLsEng
(A)  mymler 258 Lunssdla

(B)  mymler ewwusda

©€)  @pmiéan sigliunssdo

D)  @yrder ewwuiueHEs ECy

46. Pitot tube is used for measuring

M velocity of flow (B) pressure

(C) rate of flow (D) total energy

GACCm’ gmi Spésam_cunenn oieaés 2 s6yflms

(A)  Hya CGeusd (B) =yss0
©) Hreu QauafiCupmid (D) Qurég smme
47.  An isosceles triangular plate of base 3 m and height 3 m is immersed vertically in oil of

specific gravity 0.8. The base of the plate coincides with the free surface of oil. The total
pressure on the plate is

(A)  15.30 kN (B) 19.80 kN
M 35.30 kN (D) 49.30 kN

@ 3 B Siqliunsn, wpmb 3 8 o wih Qamerr Qm swués apaCGane 550, 0.8 gliu_iigdlueren
aramGennuile) Qsmi@ssTs sy ssLL Batearg. sCarensdan Sigliunshd aar@amnlar Guod
WL SEHE sfwns eidmésn Ll ssio, SIb55 & ig.en Cog)eter Awrss 2iwpsssHen whi

(A) 15.30 kN (B) 19.80 kN
(C) 35.30 kN (D) 49.30 kN
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48. The force exerted by a jet of water on a moving vertical plate in the direction of jet is given
as

(A) pa v? (B) paV o
(C) pa(V—-u) ‘M\pa(\’—u)'z

it sreoy paiHs Ceogid GstiGssTa HEL e Bz Gongd Cungl, Bt sreoy Gadgud Slanaillch

gu@Bid eflenguflen siarey

(A) paV*® B) paV’

©) palV-uw ~ D) paV-u)
49. [n a rectangular channel, the critical depth ‘y " 1s expressed as

3
o |
N

W

P

0]

-
o
o S,
N

1| -

@ Qesicus sraemdied ghu@b ApHSsigLrer apsms (y,) Spssar_arg e(psomd

1 1
o () o ()
g g
2 % q2
o (2 o ()
g g

50. The Manning's formula is expressed as
' \’( p L y, i
= . RS Q2 = o2 DY a1
L N R* S B v N R?* S
© wv-= % JRS ®) v= -11\7 R*S?
Cuoafiiien swerun(® Spasen_eumm
1 2 1 1 1 1
@& v=g R® S? ®) v=o R? S?
© u-= % JRS ®) v= ’11V RS?
o | 21 ACE/18
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51.  The surface loading or overflow rate of a sedimentation tank passing a discharge @, and
having length = L, Depth = D, width = B is given by

Q Q
@ = MB—

v Q
C BD - A
€ (D) BLD

perd ‘C' gypib ‘D', siseb B e e w L eusGaTEAD SCrm b ‘Q erafléd, Cupuriy gnmsd
cfilflgb e ayfisd oflfsid

- —_— { —_—
@ BD ® BL

C BD _Q
. ®) BLD

52. Percussion drilling is most suitable for drilling tube wells in

(A)  unconsolidated sands Mzonsolidated rocks
(C)  black cotton soil (D) quick sand

Clongss genenild Epssam_eubidle TRG Bppsiener Hemmsdr CaramL s Qurmgsworengns

fosew
(A)  Qslgenniiug wekr B)  gnndoamnbs urepsedr
(C) sflse wair (D) yeng wémréd

53.  The rgfio of available oxygen to the required oxygen satisfying first stage BOD is known as
J;elative stability (B) Population equivalent
(C)  Dilution ratio (D) Total oxygen demand

Bfle Gméss smigw oy é8gen wpgd ggafleoe BOD-g e w Csmeuwimar < s8mailan eign
Epssam_cung Sienp&siL@LD

(A)  emiy Blevaiiur® (B) swenmen WwasaTEgTens
(€) - Qafley gopsse eisin (D)  Qurgs osfgmen Coema
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54. Coagulation is necessary for waters having turbidity levels
(A) greater than 100 me/L (B) lesser than 100 me/L
M greater than 50 mg/L (D) lesser than 50 mg/L

Spasar_ Bi semsd sjae) damem g, HNzo CamaiuBng

(A) 100 mg/L n@E 2idswns (B) 100 mg/L n@ @epeuns
(C) 50 mg/L p@ 21fswns (D) 50 mg/L 0@ Gonauns
55.  Run offis the

(A) Portion that penetrates into the interstices of soil
(B) Portion that is taken up by vegetation
\V Portion which flows over the surface of ground

(D) Portion which is lost to the atmosphere

et sufiey s

(A) wveraflear @Oé@said saBpeb geaestit
B) sraurhsad a(is Gardraruu@LD et
(C) PaCopuriler Guod LMD STt iv

(D) srHm e _@bfld Gussiuci seTan i

56. An international treaty for controlling Global Ozone Depletion 18

(A) Kyoto protocol \V Montreal protocol
(C) Madrid protocol (D) Ramsar convention

o asamediu gCsnen 2HEE GopamS 5HES gHu@SsIULL sTauCss 2L aTgEMS
(A)  ECwm GLr Apdapenn ' (B) iomewri_fié Apdlapenm
(C) wrlfl Apdlapenp (D) gmbsi snEeND
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57.  The optimum depth of facultative pond is
A) 20mto25m (B) 1.5mto20m
lL.Omto 1.5m (D) 05mtol.0m

Gpflows ssasHne G ile 2 a5 syt

(A) 2.0 B AeSmma 2.5 Bri i eueny (B) 1.5 S fellmba 2.0 BrLi cueny
(C©) 108 MeSmpa 1.5 B i queny (D) 0.5 S Meflmpay 1.0 B it aueny
58. The treatment used to remove colloidal particles by chemical destabilization and
flocculation is
(A)  Chemical neutralization (B) Chemical precipitation
(C)  Chemical oxidation y(‘»hemical coagulation
sfleyfilidrar sapwiGun@menar s LLeTLRESOLFD @0 Cadllug Fgomassd wHmb g
Sy Lé apenp
Q)  Caflue peiaaiudssss (B)  Geaudlulwe efipLigeunsse
©) Caflliue e raCoihnnd D)  Cafubiue Hfga

59.  To avoid siltation, the flow velocity in the rising main should not be less than
(A) 0.1 m/sec b} 0.75 m/sec

(C) 0.5 m/sec (D) 0.25 m/sec

86 2WmD Gmdd, adrd ugams sOEs, Lmle Ceusb Epssam_ wdleu el

@eopwimoedlmés GeuerHin
(A) 0.1 .5/Qssemm (B) 0.75 \8/Qasein
(€©) 0.5 8/Qssemm (D) 0.25 18/ Qeser

60.  The sewer appurtenance which is provided to pass through an obstruction, when a sewer
line is dropped below the hydraulic gradient line is

Inverted siphon (B) Street inlet
(C)  Drop manhole (D) Catch basin

26 sflefi @emi Bhuklue smiey Camn_Bs@ 8Cp, em s@umu gramHoCurg), Spsseam_
sifleyfi gievenriiLigs LweTURSsUILHEDg

(A) Cprwormen QU GLpmil (B) Gzm Blenpaumi
©C)  &ipsdl ayafiprus Gy (D) 9 Hewranid
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61. The settling velocity of a 0.05 mm diameter particle, having a specific gravity of 1.2 in water

at 20°C (y =1.01 centistoke) will be

J 0.27 mm/sec (B) 0.027 mm/sec
(C) 0.0027 mm/sec (D) 2.700 mm/sec

20°C Qautiufleve 2 arer Bld (7 =1.01 QsamgvBLsen) e 0.05 WIS sjeray HmID SIS eredor

1.2 QanerL giser, Aananenid Ly ays HmsGaisid

(A) 0.27 85/ Qeser(® (B) 0.027 8B/ Qasemr®
(©) 0.0027 05/ Qeser® (D) 2.700 W5/ Qssen(
62. The damage caused by air pollution which causes downward curvature of leaf in plants is
(A) Chlorosis ' ,X Epinasty
(C) Necrosis (D) Abscission

snpm wraun®, Asysaflc Gew SpCrréd aumang Gegb ghLB SIS
(A) usmsws Cerens (B) Cuéeuart cueneray

(C) da s (D) o dige

63. The phenomenon of losing the slime layer in trickling filter is called as

M Sloughing (B) Foaming
(C) Flushing (D) Plugging

Qe () cug sl ig e, Caray SiBsms QuaEh Hlapey Spasemauny SmpssLLB DS
(A) e diged (B) mewnssed

©) JSpmssepeue (D) Qsmae
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64. The four essential objective of town planning scheme are

\/ Beauty, convenience, environment and health

(B) Beauty, convenience, environment and society
(C)  Beauty, health, society and life

(D)  Convenience, comfort, quality and beauty

BETSEC Lo Cursenamlien pren @endluenwowng Crréshisdr Geanungn
(A e, usd, sDNEEPD LHHID 2 L dpaid

(B) e, wsl, somEGRD LHYIL sepFTLID

©)  oys, 2L apab, sepsmub wHpb SuMpdhens

D)  eusd, Qsarafubd, smb wHmb PG

65.  Which is not the feature of preliminary survey?
(A) Highways and Railways
(B) Housing and Industries
(C)  Water supply and sewerage

\M Administration and economic development

TG (el SienEensUllen HMSLD D7

(A)  QAsdEssrenmsar HmD Tulléuramgaar
(B) & @eusd wpmbd Qsmflperenaadr
©) B euprasgib giiyyeyd

(D) Q,l'_a.ﬂufﬂu.aéa whmid urmemmgmy wearGanhmib
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66. Madras Town Planning Act was passed in

\K 1920

(B) 1915
(C) 1900
(D) 1820

QuoL_gren pars S Bl s @hs e peL(penUUBSSULL LG

(A) 1920
(B) 1915
(C) 1900
(D) 1820

67. The National Rural Employment Programme was introduced under the Act
(A) National Rural Employment Act 2005
% National Rural Employment Guarantee Act 2005

(C) Integrated Rural Development Programme 1980

(D) Integrated Rural Development Programme 2005

Caélw ArmoliLp Cameamiiyg SULb @55 s _gHlen &1p siflpsLL@ssUUL(Herag)
(A) Csélw Agmotiyp Ceuemeeumiiy &L 1b 2005

(B) Csélw Jﬂqnmuq;n CeuenaaumilliL] &emyé s b 2005

©) goudoarss SrmouLp cuanirédls S 1980

D) goudeanns Srmolyn auemitédls HL b 2005
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68.  The negative skin fiction on a pile develops when
(A)  the soil in which it is driven is sand soil
(B)  the soil near the tip is clay

(C)  the ground water table rises

M the soil surrounding it settles more than the pile

sremsenLsandle ergliven e ymiey @bs @weld ghL Hélmg
A) 25 pewsstL@D wer L:)mr,r_bumiua;rrm LOGHRTERTIT(GLD

(B)  grawasem_ssrelen mafluld BBEGD e safloam @b
©) fPagsy Sinol L serey 2_II(HSE

(D)  gransemLsstene sniluerar weir Siengeil fs0Ts SpkiEGHD

69.  In a constructional project, scheduling helps in
(A)  planning for project
(B)  finance control of project
(C)  preparing the estimate for the project

y carrying out the project in an orderly and effective manner

s_(Homer Qau@@@n’u&aﬂé. ST L auenarull Hge Epsae_eundlpHE 2 sadlng|
(A)  Qewad L seng S8

(B)  Qewddl i sHen Bffleeawus s HuBss

(€) GowadiL wAISE swri Qe

D)  QewediLsms qupisran WwHmID Lwgyeter euflufles enswimer
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72.

For a given activity the optimistic time, most likely time and pessimistic time are 5, 8 and
17 days respectively. The expected time is
(A) 8days M 9 days
(C) 10 days (D) 15 days
@ Qanasiul L Caugise, 2-sbhs Cprb, AuEBDLTEID Bapssagw Corb wpmb urgs CHyd
wpanGuw 5, 8 wpmid 17 prisdr. b QewgisE, erdliumiiy Coirb
(A) 8 priser (B) 9 priser
(C) 10 priser (D) 15 priser
Separation of coarse aggregate from mortar during transportation is known as
(A) Bleeding \M Segregation
(C) Creeping (D) Shrinkage
Curs@aunsden Cung sraysensdemha LmEFO6 Gfeug Epssam_aury si@pssuLBEADS
A)  ewss B) spealibg Gfige
(C) Qsmiey (D) &mésD
The tensile strength of glass fibre ranges from
(A) 360 to 510 N/mm? (B) 620 to 830 N/mm?
M 1020 to 4080 N/mm? (D) 6000 to 7400 N/mm?
sanemy. @epulien G peuciiew GpHEsD
(A) 360—510 N/mm? (B) 620—830 N/mm?
(C) 1020 — 4080 N/mm? (D) 6000 — 7400 N/mm?
29 ACE/18
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73. According to IS : 456 — 2000, the maximum strain in concrete at the outermost fibre is

(A)  0.0065 (B) 0.0020

M 0.0035 M) 0.0050

IS : 456 — 2000 @en Ly, Hamsreogulan Qeualliyps seLs Beayuie gpudb sfsuls Sfly

@gwn@m

(A) - 0.0065 (B) 0.0020

(C) 0.0035 (D) 0.0050
74. Air entrainment in concrete increases with

W workability

(B) strength
(C)  unit weight
(D)  durability

Bemanenpuileo snhp G @saia sfsNsdng
(A)  syEman

(B) eudllenwn

O @ o

D) Peowiiy

75.  The effective length of battened column is increased by
10% B) 15%
(C) 20% D) 25%

LienLti Genanrggnentlan Lwugrm Berd @ibs <ierey siflafésiuGdns

(A) 10% (B) 15%
C) 20% (D) 25%
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76. What is the water content at which the core of an earth dam is to be compared during the

construction?

(A) Optimum moisture content

(B)  Slightly less than the optimum
M Slightly higher than the optimum

(D)  Dry of optimum

s_[orengHar Gug e sieamuien 2 aref® aps Hit siarelle SipésliuL GauamHid
(A)  =sly FyeTey

(B) eoaiy my el fiflg G@pairs

(C) sy my serenausil fflg sifswns

(D) esuy Fy SjaTeneaueil 2 @fauns

77. For degree of consolidation U, less than 60% time factor (7)) is given by

2 2

(A) _’i(_U_) M z (_U_)
2 1100 4 {100

(U & (U o

© —4_[1_0(—)) ®) E(m—o]

spssdean ey (U) 60% g &l g@pauns QmEED L ssH Corasamef (T,) @eueurny

Qsr@ssuC(HeTerg
(U P (U ¥
SR (’1‘06) - ol 7 (m)
z(OY z(UY
© ?[To_o) ©) E(mo]
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78. Damp proof course shall be fully described and taken in

(A)  Running metre MSq.m

(C) Cum (D) Quintal
28550UY LEs Qhs swdld elaufssiu( adsss Qaraeriu Caar@n
(A) @l Bl (B) &gy Sl

(C) @ansgybim (D) el Lmé

79. Depreciated value of each part is ascertained by the formula

gaiGaunm ugdulier APy Bks swearum el uweu R8s semsdLiu@dng

@A) D:P(IOO—rd]

100
100—-r
B
®) ( 100 )
o P(wo d]
100
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80. The assumption of linear elastic behaviour is acceptable for beams with tension
reinforcement, as long as the calculated maximum stress in concrete is

M less than that of 1/3 of cube sti’engtlx
(B) greater than that of 1/3 of cube strength
(C)  less than that of 1/2 of cube strength
(D)  greater than that of 1/2 of cube strength

Queileos g B sbdsar 2w AL hisEnsE, samsdllulL  fsucs gose
Epsaan_auny Gmé@n Aurepg, Cofluid \Berdlmen pLfens eTenD 2SD THLELISTGD

(A)  epeifle e Lk sen sg7 e 6l G@pauns

B)  epandlé @ LG sen 5517 euellenwan el s Bpans

(©) unf) seag aullansGID GDDaUNS

(D) und senagr ul@EELD saHFONE

81. The failure in which the deflections and curvatures remain low right up to failure stage 1s
M Brittle failure (B) Ductile failure
(C) Yielding failure (D) Bending failure

Sansa| flae cuer, ellssapd , AIDETA(D GMDAUNE @QméELonm oL@ Sagey
(A) ~Gprprag oz B) ferSlevzey
(C) Gpdlp Seoge D) amerey Hozay

82. Limiting depth of neutral axis for Fe 500 steel in limit state method is
(A) 0.5313d (B) 0.4791d
0.4560 d (D) 0.4213d

apbLyflene apapude, Fe 500 2 mé8HE. Fuwhlene &8len auyLbL] LD

(A) 0.5313d (B) 0.4791 d
(C) 0.4560d (D) 0.4213d
83.  The minimum values for the nominal cover are fixed to meet
(A) Ultimate Loads requirements (B) Serviceability requirements
M Durability requirements (D) Deflection requirements
GODHESLILS wEliLen Quuwrerellener &bl 2 mDESiyLIL| TOHS wiss G QarRasuu®Eng
(A)  pdiues Cameuser B) uwemLamw Coenauser
(C) Hevawtiy Cgenauser (D) dlesss Camausar
p 33 ACE/18
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84, If the cross sectional dimension of torsional member exceeds 450 mm. additional

longitudinal bars are required to be provided as side face reinforcement, with an area not
less than

(A)  0.12% of web area
0.1% of web area

(C)  0.12% of flange area

(D) 0.1% of flange area

80 Yoss sLLs smsiflan GoEE Qul® uflioramd 450 A8 B BSgo Cung Lés ps
ugiay L sdlhans saBHga Hereur_ L s Gaadr SensEd Cung), siser uniuerey SpssemLanbn e,
@epwimoel més Geuei (HLd

(A) =0 urdiuereila 0.12%
(B) =0 urduereila 0.1%

(C) efleflby Lrtiuerelle 0.12%
(D) Aefiby urtiuerelié 0.1%

85. Effective length ratios for a column in a frame without restraint against sway varies from
(A) 0-1 (B) 1-2

(©) 0.1-09 P’ 1.01-

smiesEg sl uumgdans sl sHaemer g siaflen vweym Her elldlstiser &pssem_eunm

wrmiLHib
(A)  0-1 B) 1-2
(C) 0.1-09 (D) 1.01-»

86.  The ratio of unsupported length to the least lateral dimension of the column should not
exceed

(A) 50 (B) 55
60 (D) 65

o0 giela grusiuurs Sob wimb Hak G@phs Lss ufloremd efuapiler efdsib
Spéseim_supenp Bpsan_ng)

A 50 | ®B) 55
€ 60 D) 65
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87. Match List I and List I1 and select the correct answer using the codes given below :

List I (property) List IT (equipment)
(a) Grain size 1. Pycnometer
(b) Specific gravity 2. Permeameter
(¢) Coefficient of permeability 3.  Seive analysis
(d) Cohesion 4. Van shear apparatus

(a) (b) (e) (d)

{3 1 2 N

(B) 1 3 2 4
() 3 1 1 2
(D) 2 4 3 1
utgwed 1 g uigwe I erer Qurmsd sfluren eflensenws &Cp Gar@ésiu(Herer
EHEySmbs Carey Gslwayd
Ul igwied I (@emnd) uigwe IT (2 usyeanmd)
(a) gseT SieTey 1. umwoerd iiHH iere
(b) senafiny 2. yegenio el
(€) [ esn(pyselicb Gewraid 3. sooeLl u@lumie)
(d) Genemriiy 4. Geuelt 5m&s 2 LISTERTLD

(a) (b) (c) (d)

(A) 3 1 2 1
B 1 3 2 4
(C) 3 1 1 2
D) 2 1 3 1

88.  The constant of proportionality between seepage velocity and hydraulic gradient is called
(A) Seepage coefficient
(B) Coefficient of transmissibility
(C) Modified coefficient of permeability
\V Coefficient of percolation

sflajp SHwsGassdped Brwsss sflpen G Cuuwrer gy Apmiy wrbled Geueurm
SipsaluBEpns

(A) sdleys @emsid

(B) GQagussiu® setenio Gemaid

(C)  emordu i ca@seilo Garsan
(D) Qurélse Gewrsbd
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89.  Piles used to anchor down structures subjected to uplift due to hydrostatic pressure or
overturning moments, are called

(A) anchor piles : (B) fender piles
V tension piles (D) bearing piles

Biflenar ipsad g Y ® Hmuub e duadord Cod gen@y eleanss@ 2 LRSS LD
slgL ey  Hoofipsgasiend  LuEUSSLLEL  siaw  s@LEsTasd Bleueumm

SimpasiL B enmen
(A) prggy gl sa_ssta (B)  amiumen sian se_sasme
(C) Qmés gneam seoL_damad (D) s snew soL_dsmd

90.  The initial test is performed on a test pile to detérmine the ultimate load capacity and safe
load capacity. The maximum load on such an individual pile should not be less than

(A) . 14 times the design load
(B) 15 times the design load

M 2% times the design load
(D) 4 times the design load

Congenens gnewr senlsandlled) 2 &5 LiEH SME gimen LHMID LTFSTOLTET UEH STRE Spamends
sanbdl gleusss Cergeanan pLSSULRADS. SIS suas seflwimar gl sl sanedle) Gegdsini@Hin
sflsuls L. Glang ailL& @mpeuns §)mbss saL_mg)

(A)  agauenoiiyd ugpmaiCure 11 wL ki
B)  agaueiiyl uEsmeaiGurd 11 L dig
(©)  agamwiyduEmaiCurd 24 wLdkig
(D)  augeuenoiils LgpemeuliCuIre 4 wi ki

r

91.  Maximum settlement for raft foundation on clay is Jimited to
(A) 40 to 65 mm 65 to 100 mm

(C) 40to 120 mm (D) 65 to 165 mm

seflwarmefiey meusstiul_Harer unLsmLssrdlan oHsul s Spé&snd Qns eurblbp@er @)més

Geuart(Hid

(A) 40 mm &Smpz 65 mm euenyy (B) 65 mm &fmhg 100 mm eueny

(C) 40 mm aflmbg 120 mm cueny (D) 656 mm &f\mBg 165 mm cuany
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93.

94.

95.

The following is a GIS software
(A) MODFLOW (B) ABAQUS
(C) STADD. Pro y.‘\rc info
Gemeuaneug GIS GanGummer 2y@h
(A) MODFLOW (B) ABAQUS
(C) STADD. Pro (D) Arcinfo
LIDAR is acronym for ~
M Light Detection And Ranging (B) Light Detection And Refraction
(C)  Light Detection And Reflection (D) Low Depth And Ranging
“LIDAR” eranig) @sem Lienanuwipm@b
(A) gl sa@r_Hsd wHpb GLhkEhlssa (B) qafl sam_flgao whmb geflellose
(C) geafl s@ridlgd wpmb ArdHudissea- (D)  smpaure ipid wHmb @LRiEHss0
In India, the following organisation, is responsible for Remote sensing satellite data
acquisition
(A) GSI (B) ASI
(C) ISI \V NRSA
@rduneile Epssem Fpeuand Agraw oarie) Aewpans Caner sra) FL @i&@ AuImLILTGLD
(A) GSI (B) ASI
(C) 1ISI @) NRSA
Generally special purpose maps are
(A) Medium scale maps \M Larger scale map
(C)  Small scale map (D) = Roads and Railway
Quirgieuns Apriyy CrréE@ euemruLLb @geur@L
(A) Qe fleva euenyuL D (B) Quflw Iere) cuenruULLD
(C) APlw serey euanyuULLD (D) smeneser wHmb pullédy LTengseT
87 : 'ACENS8
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96. A column of 450 mm % 450 mm is reinforced with 8 numbers of 32 mm diameter

longitudinal bars. The diameter of lateral ties for this column should be greater than or
equal to

(A) 16 mm (B) 12mm

(@)  10mm MB mm

@m 450 BB x 450 WSS grew, LB 32 mm flibh recw Sedumiig sibiGseTd
a@iapl L LU Beaerg. SiBs gnaflar ussaun (h &0 sblsaflar el Lib Eipaéaem_eubbma
swwrsEGan Sag smpsarsGaur Qmss Caamr@mn

(A) 16.8.8 (B) 12485

(€ 1088 (D) 8.8

97.  The command which allows the user to draw 90° straigl"lt lines is

(A) O snap
P Ortho
(C) Linear

(D)  Polar tracking

ot sLLenar 90° CpraCan e asmreush@ Lwamaray sigiwdadps)

(A) O evarmy
(B) =i5Gan
(C) Safluui

D) Curant Lyréde

98.  The paved area for parking of aircrafts, loading and unloading of passengers and cargo is

called as
(A) Runway MApron
(C) Taxiway . (D) Terminal building

dfloraiseas Fpsgeausp@n, vweflas wHND sE@Gs@er IDDUBHGHL  @DEGUSDHELD
Cum_tiu’ Gerer gemAl L upiy deuny SepssiiuBdng

(A) @b uramg (B) smiys send
(C) prigeanf D) pamenus &g b
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99.  The horizontal position of the moveable arm of semaphore signal indicates that

M stop signal

(B) proceed signal
(C) caution signal

(D) proceed with caution

QswCuniFeans maulid o mar S@sb LGS S oL Henauflé GBS =% Qensé GH&SHng
@A) Fmss sllsme

(B) @i sllsaneh

(C) assflbemna saublém ey

(D) arésflamauan Qgmit s106mE)

100. The formula used for super elevation calculation in rails is

(where e = super elevation, G = Gauge of track, V = speed of vehicle, r = radius of
curvature)

M e = GV*/127r (B) e=G'V127r*
(©) e=GV¥127r* (D) e =G*V/127r

peRTL_cumengdlen s o Wirsflenws sansdlL 2 sa|b GSHTD QaeTGD

(@HHe e = snE® o witsf), G = sawm_curenSlen aray, V = aunsengdlen Geusid r = auenaray S47D)
(A) e=GV¥12Tr , B) e=G*VN27r?
(€ e=GV2n? (D) - e = G*V/127r
101. The permissible limit of wear in rail is % of rail weight.
(A) 2.0% (B) 3.0%
© 4.0% | G 5.0%

gem_aureTg e SigISlésin L Cailioransdlen  aTey FeirL_eumenSen aranLemwGura
% @D

A) 20% (B) 3.0%

(C) 4.0% ' D) 5.0%

p 39 ACE/18
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102, In providing racking stone, for tall buildings, the length of racker can be reduced by

introducing
(A)  Folding wedges (B) Needle
M Rider racker | (D) Top racker
2wmoren syl nisafle smie) pplen SefléGnCung, Grésfear Sersens e
2PlpsLBESE Geonssanb.
(A)  ogssliuc L gyysdr (B)  oad
(©)  epit Cyaan (D) Cuwe Craai

103. By artificial reasoning of timber, the moisture content can be brought under control by

(A) 2% to 8% M 1% to 12%

(C) 6% to 16% (D) 8% to 20%

wrsms Qeaubhenswuns ug&u@ﬁgwgs&r gpeold, ey SaellD@é s [H&Ee
Glameior Heur @ wigpb.

(A) 2% apse 8% cueny (B) 4% qpsé 12% cuenr

©C) 6% usa 16% eaueny (D) 8% apsed 20% euaniy

104.  In calculation / determination of sound absorption coeff, of any material, is compared with

.(A) Ventilator (B) Carpet

(C)  Curtains W Open window

S5 @ DunmeiriogsSen el 2.1 saumid Gsgamss sansdHnCurg) / s (HLg &G CLNg:, g

2L UL LLB A
(A)  smHCom g (B)  geny ey
©)  Hevgé Emavaer D) s senened
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105.

106.

107.

The lime concrete adopted for water proofing of roofs should have a proportion of lime and

brick ballast at

(A)  2lime : 2 surkhi : 7 brick ballast
M 1 ime : 2

(C) 1 lime : 2 brick ballast

(D) 1 lime: 3 brick ballast

brick ballast

v |—

smenguiley B ysrsaunn Galegn@ LWETLBHSSILGLD semeRTTiDL  ShETeTwTeng e
flss8ld setranmibdy] wHmD Cemsd gemDsmend Qareag (hEs Geuemr(Hid
(A) 2 sa@memrmibL : 2 &idl - 7 Qemg gl (Hser
(B) 1 sewiemrmidl): 24 Camsed gawmbadr
(C) 1 seremrmibL : 2 Qarusd gewr(Haer
D) 1 samammioL] : 3 Qamse g ([H&ser
In order to increase the workability of mortar used in stone masonry work, of
cement should be replaced by lime.
(A)  10% J/ 15%
W0 20% (D) 25%
s& s_@Hora Camala srapller g @smwaw AHsfuugpsns ' SQwerm_Lreng
seresrmoled wrhmiut Geuem(Hib.
(A) 10% (B) 15%
(C) 20% (D) 25%
Pici{ the correct answer which does not belong to metamorphic rock
(A) - Gneisses (B) Marble
M Sandstone (D) Slate
2 HOTHHILILTED eueEeLE sTTS &flwimen ey CaibAsHEsa|D
(A) enpev (B) sowameas&sd
(C) wewhH SHLITEHMD D) spuewams
41 ACE/18
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108.

Which of the following properties of Reinforced glass is correct?

I More fire resistant
IT. Expands with serious eracks

ITII.  Higher melting point

(A) I and 1l are correct

\M I and 111 are correct

(C) 1II and III are correct

(D) I, IT and 111 are correct

I a6t Aanadr sare g e Gldna b eThs Lism sar sflwng
L ofsg5500y
I1. Sellipiomen Glaug.LiLysenLen eﬁ\ﬂeﬂmg,;

L adswre o meE flew

(A) T wpgn [ dwenas sl
B) T wpgbd [T oyfwena s -
(©) I whmn I ydwereu &
(D) L, I wpmbIll eydumea il

109. is the construction of a temporary structure to support an unsafe structure
temporarily.
(A)  Secaffolding \{Shor'mg
(C)  Underpinning (D) Shuttering
UTHSTULDD &gl S5 sHardlsnns SRGUSDE shandlsonss s ULGL S Lol
BGLD.
(A)  smpis’ Hsa (B) @& dsn@sse
©)  &psQsmae (D) Qsrifldnmenemm'iy
ACENS 42




110. Web of a plate grida is designed for

M Shear force

(B) Bending moment
(C) = Axial force

(D) Bending stress

g8 e sfysHen cumass L QaHens augeuanw&sIuBdmng
(A)  sméo s

(B)  euswerey Hprijeno

(C) b5 cllens

(D) euenaney llens

111. The ability of a material which enables it to absorb energy without fracture is called
(A) Fatigue
(B) hardness

M Toughness

(D) Stiffness

am Quimefie® oflsed ghumod ebdawu o flgrodomigl Femenio erem
Sien&EsULGADE.

(A) asevamiy

(B) aganggsenamio

©  opdlurero

(D) eflenpliysseneno
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112.  The fineness modulus of 20 mm aggregate 1s 6.8 and that of 10 mm aggregate is 6.0. What is

the percentage of 10 mm aggregate re

modus 6.4?

(A)

30%

7 50%

quired to have a all-in-aggregate of fineness

(B) 40%
D) 60%

20 20 mm dyeflen panemws gansn 6.8 whmn 10 mm freflen pemenws @eamsn 6.0, (M
Cursss Syeflen mameins @emsn 6.4 Qs Couam@ib erafled ercueuaray ggeig 10 mm Syer

Caemaui(Bio?
(A 30%
(€C)  50%

B) 40%
D) 60%

113. A relatively fixed point of known elevation above datum, is called

(A)
(©)

(A)

(©)
(D)

reference point

(B) datum point

reduced level y bench mark

Sien&sUiLBdng
(A) s @uyeref
(C) sawsd® v b

plane alidade

N o Telescope alidade

Clinometer

Optical square

2_LIGFenTLD
(A)  ger el L& sporenyubd
(B) QsrenaGrréd eul i HDOTEHTILILD
(C)  smiey wref
D) geffwp sgimd
ACE/18 44

srey fleowldmbs QsfEs g WwELSHle 2 dter guLerelld Haawns o drer yerafl Geuaummy

(B) sreyliyerefl
D) feaewsgd

114. The instrument used for obtaining horizontal and vertical distances directly without
resorting plane table survey is

seaniL erecuamu erdiuniasmod e ol L whnb CriéEss sisms Crrgwnast Qup 2 geyb



115. The brass handle at the end of the chain is provided with

(A) Lateral joint M Swivel joint
(C)  Rigid joint (D) Eye joint

srudeufen apig.efld o drer Asemens (Nguild G| Qar@ésiul_Heararsg
(A) Aol Genamiy (B) &we Genenriiyy

(C) mmwmng@mmuu (D) eafme GlenewTiiL

116. Number of links in a 20 m metric chain is

(A) 120 (B) 150

M 100 (D) 125

@ 20 m uHdno HAHEEG JiaTey P FTHS sridludé 2 arer QenemriiLseflen erawmentldena
@ 120 (B) 150
(C) 100 (D) 125

117. A Dumpy level is preferred to determine the elevations of points
(A) lying on a line

M lying in moderately flat terrain
(C) lying on hills

(D) on a contour gradient

@is Leraflsatien o L L Sengs Sionaflés Libd w_Lssmed eflprouruBEpg
A  gmCamnigd iphilmrueme

B) Bswns s e wrar Hosdd eSpbHlHruma

(C) wvweesad aSphHmuime

(D) swaraueny Gam B aflefler @miamal

p 45 : ACE/18
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118.  In theodolite surveying, face left denotes

M the position of the vertical circle is to the left of the observer

(B)
(€)
(D)

the position of the vertical circle to the right of the observer

the inverted position of the telescope

the position of the vertical circle is to the left of the person standing infront of the

observer

par v Cananr siareneunsiwelled. @ apsid GISE ey eranug Blenss @[ﬁ]&éﬂﬂ):@

(A)
(B)
(C)
(D)

Crid@sa eu' L gfer syenneflLib s arenflIureTmé® @)L g usswors B mssa

Cris@sg el L siemweilib samsrei LITET(hEE euag L&sns @) mssd0

Agrene Grnadlufen sena Sipren Hlene

Cpiée@sg el sflear seniveilib s@msrefliLTaThES peramd Hi@n pufen @ s
USSLONS @550

119. The least count of a vernier scale is

(A)

(B)

" o

(D)

value of one division of vernier scale divided by total number of divisions of primary
scale ‘

sum of the smallest divisions of main and vernier scales

least fraction of the smallest division of the main scale in the vernier

none of these

. Qeuieflwir 2yereyCamedlen Béflmy sjemey

(A)

(B)
(©)

(D)

ACE/N8

Geuiraflwir iereyCanaslen @@ Gifleflen wdllienu waemew oaeCaredn Qwrss G Meflen
cramenflaansuiier cuEliug

Qeuiraflwi wpmib apgemeno siereyCamedley o_arar SAdlw Afeymeflen sl _d

Qeuiraflwifieh o drer apsenanio wiorayCaredlen S Gfieflen B&dmy Demanin

Gopsem_ srgeyb @eaoama
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120. 1In a closed traverse, the £ northing and L westing equal to (in order)
(A) ¥ Southing and X Latitude

(B) I Latitude and £ Departure

M ¥ Southing and ¥ Easting

(D) T Southing and — X Departure

i
2
ppLLIuc L pLé@maufe I e ssamiE Ceupur@ wopn X Cupe osonmEg GCapur®
(cuflenaufic) @BMHES SLOLNELD

(A) I Ash@ siserse Caupur® wpmb T GnEGEGETH

B) I enéEatsn® wppd T QeuafiGunmbd

(C) I QshE sQTEEG Caumun® wpmib T HP&E sisemmhE Gaupun(h

(D) = AspE AsenmeE Gaupurd OHDILD % T QeuaflGuipmid

121. The vertices of an astronomical triangle would include
M zenith, pole and heavenly body '

(B) azimuth, zenith, nadir

(‘(Z; azimuth, pole and heavenly body

(D) azimuth, zenith and heavenly body

aurefwstit ap&GaremtGlen salduu Leraflser @eupenns Qame (B araren

(A) owiGauda®, HHeuD WHHID eurenEUmHET
(B) Heoseile, ewibaudama, gmipLjera
(C) Hemsellen, HimHeulbd wHHID aumrenQIm(mHET

D) Heoseiler, 2 widaudena WHmID euren@uimher

P 47 ' ACEN8
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122, The instruments used for setting right angle to a chain line are

(A)

(©)
(D)

cross staff, tape and optical square
cross staff, optical square and prism square
prism square, optical square and alidade

none of the above

sflells Cam iy Qamii@ 5516 Camanmb yenindsi] Uwemu (i &melser

(A)
(B)
(C)
(D)

1o

A

(&)
(D)

(A)
(B)
(©)
(D)

ACE/18

GOEG WL &GS, suniiiul enL oomid gefluliuip sgmb
GOEES WL ECsmd, gafluliug S&ITD HOID UL L& s8yid
UL L& s&IMb, geflufiuig FSITD LOOHMID L& &HDTenywiLh

Clopsair_ argiayn Qe

If 1 em represents 1 km actual distance on ground the representation 1 em = 1 km is
called Engineer's scale.

In plain scale, three consecutive measuring units are possible.

If 1 em represents 100000 em of actual distance on the ground, then it is fraction
scale

In diagonal scale, two consecutive measuring units are possible
1, 2, 3 and 4 are correct
1 and 3 are correct

1, 2 and 3 are correct

1 and 4 are correct

@@ Geusar 1 cm srenugl Hlesdled o drer 1 km 2 RTENDWITEN SSRGS @NEGD ereflch
1 em = 1 km erenug) Qurdl@uieorments jereyCane erem SienpasuHEng|.

FMSmyemTone yeareys AL e wam S HE5055 SHTEGLD D60 @G Ger snsSluiomsib,

@m Geuenar 1 cm stenug HleosHa 2 drer 100000 ¢m 2 RTNDWITEN FT&an g @Ml&@ L0
erafled, Qg Gehrar oiemayCame DU GL0.

tpene el L siareyCamedla, Qran® 2655065 DAATEGLD B0 &6T ENSELIDIE LD,
L, 2, 3 wimib 4 eydluieme sf

L whmib 3 gfluienes &)

L 2 opgub 3 sy dluieneu s

L opmib 4 sy fluiemey s
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124. If the sinking of supports is such as to rotate the beam as a whole in the clockwise direction,

the moments at both ends will be in

(A)  Clockwise direction

M Anticlockwise direction

(C)  One side clockwise and the other side anticlockwise

(D)  right direction

&p sfipb sgmd, en EllLfes peLWLTS s Smsufe spOHMOCUNS. Siger
Amypeasaigid Hmliyeo

@) awgsd Sosdo @oieh

B) @r@sf Hosdo Qosed

©) gem awgafub wpepran Gresflunsab QHsED

(D) sflwrer Hansuile Qm&Eid

125. For approximate analysis of building frames under vertical loads, the point of inflection is

assumed at
(A) Centre of each beam
(B) Centre of each column

(C) Both (A) and (B)

th
M % of span length from each end of beam

om sl s Lsb, Qengsg sewuiean & QmsELCUNE), e 2 ek LaTefl (inflection
point), Ggnymu LEGUUMLEH Geuaury o erargns smsUuBSDng

A)  gaQeunm el L sHldn emowgHle

B) gaQaunm gnaflar ewwsdld

© (&) wipi> (B) @rem@id

D) AL sHen geauQaun aperendguilBhgl, Sise 116 Bl sieTey
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126. The degree of kinematic indeterminacy of the pin jointed frame shown in Fig is

A 3 B) 1

@f‘z D) 4

uLgHle amliguarer Qemanentl @eemiiy s sHen @S pelley & Lig sTid erenan?

(A 3 : B) 1
€ 2 D) 4

127.  Framed structures that are idealised using line elements in matrix method of analysis are

often referred as —————— structures.
(A) linear
M skeletal
(C) curvilinear
(D) flexible

Cer® emuurs Fob Qelwiull &L Sewley, el e e  UGLumieid

erenen@euenm CuopCGareflHdlenmeni?

A) Cphlwe
B)  upgEEES
C) aueaCar@aer
D) Q@erss
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128. The maximum bending moment due to a train of wheel loads on a simply supported girder
(A) always occurs at centre of span
(B) always occurs under wheel load
(C) never occurs under a wheel load

M always occurs under heavier wheel load

@m eefleno Hrmdl 2 5HTHHD, 2 (HEvET TNl QagssuEHLCUTE, BT gnu@n Gumo

cueneTdl(HLIL|ENLD

(A)  euGungib B sdlen mLou.@@c‘o ghHuBD

(B) eriGumgih 2 mener erenudlen Siiguie gpu@o
(C) @mCurgib e (ener e ullen Sligufled ghuLTFl

(D) eruCGurgib seorer 2 Hear eren_ufen iguied gHuBD

129. The line which gives the point of intersection of the two reactions for any position of an
isolated load is called

(A) influence line

(B) pressure line

y reaction locus

(D) internal locus

saflewiu@ssiL seowland, (25 ops Hooudd @mpsraud) efleneruyd @rem®
adireflenensafien GUI&E A& Larafenwd Qsr@éEh Cand Gl SiepssUBEDS!.

(A)  (@enguuiencv) eflenareys Camd

B) sHss Canlh
(C) eafiellenen HlwiwuLrens

(D) e cremmen FluoliLTms
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130. 'For no tension in the section, the eccentricity must not exceed

(A) %2 o %

d

4k* k
C — ] A
(©) p (D) o

@ Wflelle, @ Baamod BBUUEHE, g6 entowill Gppsé. Qe Bué s g

2 2
@) "’7 ®) %
4k* 15
& — Py —
© = ® -

2

131.  If the second derivative of bending moment, M with respect to length, x, ie, d

dx*
positive then,
(1)  the bending moment diagram will concave downward
(2) the bending moment diagram will concave upward
(3)  the shear force diagram will slope downwards
(4)  the shear force diagram will slope upwards

Of these statements
(A)  only (1) is correct (B) only (2) is correct
(C)  (2) and (3) are correct (2) and (4) are correct

d2

Bergens (x) snips, euener HAmiyenn (M) e @rerLmb umasbls, israug Cuyns

de
Bopsme, Gen

(1) aumear miiyeno L ib, & Cpréd suenaTh Sl méELn

2)  a@amiyen uLb, Cod Crréd suanah ) (maE 0

B)  po&E efestiLLib, &) Cprad) sMpHméen

(4) poEE AesiiuLib, Cod Crrédl alid méen

Q&@srnQApr_rsefle
@A) (D) vl e s (B) (2) wl @b &
©) (2 b, (3) b &M (D) (2, (4) b &M
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132.  Which quantity will not be zero for a plane strain problem in x -y plane.
(A) shear strain in x—z plane
(B) normal strain in z direction
M normal stress in z direction
(D) shear stress in y—z plane

x -y sasdd 2 drer, ser ellawm sl THS BeTa) YRWIDOW?
(A) x-z gasHle 2 arer pMiEE eflseid

(B) zHewsulie 2 arer QobiGsg ellsabd

(C) z Henslied 2 crer AomEGsE swsa]

(D) y-z sarsde 2 arem HMISE HD&HE

133. The ratio of modulus of rigidity and modulus of elasticity (G/E) for any elastic isotropic
material is always

(A) less than % (B) less than %

(C) more than % M (A) and (C) above

gemeug @n BeEnd, Hos gomllu Qurmeliarn ppéE CawelnEnd Berenosd Qaspellh@ o o arer
aldgn (G/E), eruGuingib

: 5, k& s
(A) % &G GODUTS @ HEGLD (B) 356 GDDEUTE B)(HEGSLD
©) %g@ Sifs0rs GEEED D) CopeAuaie (A) wipi (C)

134. The measure of total energy a material can absorb, prior to fracture is called
(A) modulus of elasticity (B) modulus of resilience
modulus of toughness (D) modulus of rigidity

wiflausp@ paremd, @m Qurmer o [ seumd Qurss Shpellen Siete eeug Geuurm

SimsaLLHEDS
(A) (Berenwos Qsp (B) smu@ews Qs
(C) sgens sy D) sn&EEs s
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135. The elements of flexibility matrix of a structure
M are dependent on the choice of the co-ordinatess

(B) are independent on the choice of the co-ordinates

(C)  are always dimensionally homogeneous

(D)  both (A) and (C)

R Simwilen Qarss ieflufld 2 drer o miyser
Q) gpumsea Caiey Aelicuanss smibg) 2 drarg
(B)  whsd Csiey Aslieuamss SNTHES @denen
©)  auQursGo sareysaflanig swidyrans
D) (A wppw (C) @rewrBid

136. When a uniformly distributed load a length 10 m, with intensity 2 KN/m, crosses a girder of
span 6 m, what would be the absolute maximum bending moment?

W 9KNm (B) 25 KNm
(C) 6.25 KNm (D) 2.5 KNm

@® 10 m Femoren, 2 KN/m Qsfleyenw &iuigeued senw : 6 m BlLonen 2 Fsrsms sLEELCLNg
FOUBD apepewren, AL uenardlmLiLjenin GTEUGUETEM@LD?

(A) 9KNm (B) 25 KNm

(C) 6.25 KNm (D) 2.5 KNm

137.  For making maximum use of the log of the wood, the corners of the section to be selected
must lie on the

(A) edge M:ircumference

(C) side (D) top

wrssleaLuwlen Qumwearey LT L Qupeugpars Csiey Gelwriu@n GONelen PO EET

&l Couan(HLb.
(A) @mnb- (B) ufg
(C) uaswd (D) CwCw
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140.

The Horton’s equation is expressed as follows
A fi=f-,-f)e" ®B) f=f~(f,-f)e™
(C) f! =/c+(fo—fc) e’fl M/l =fc+(fn_fc) e—kt

Qi L_ene Swenun() Spssasn_aumg eT(LpSmD
@ fi=f-(f,-f)e" ® f=f-(f~f)e™
© f=f+,~f)e" D) f=f+,~-f)e™

A canal is 80 km long and has an average surface width of 15m. If the evaporation
measured in an evaporation pan in 0.5 cm/day, the volume of water evaporated in a month
of 30 days is (in MCM) :

(A) 0.225 (B) 0.200

M_ 0.18 (D) 0.10

o 80 HCamBLLi Berapanw srdaumuilen syrafl LFLL SisLD 158 @ b. frreflwnsed SiaTéEh
wraflifé sersstucL frreflunsder oerey @@ praasd 0.5 Q.S erafle, apliug BrLsET
Qanar_ wrasHd Brredumrar siarey (Wodlwer sar BL o)

(A) 0.225 (B) 0.200
(C) 0.18 (D) 0.10

Orographic precipitation occurs due to air masses being lifted to higher altitudes by
yhe density difference of air masses  (B) convection
t

he presence of mountain barriers (D) cyclones

gCmAym9s wenpl Gumfley ererLg e WFOTE QLisEHES SpssEL  STTBTSHID

sréstiuPaugted ghuGSDS!
(A)  smpflen SLiEH wrmLBSTD (B) Qeuliu seembd
(C) weasdgTLit @EHULSTD (D) @mmreuafl
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141.  Reynold’s Number is defined as the ratio of inertia force to
(A)  surface tension force (B) pressure force
(C) gravity force viscous force
Qiienres e ereir sremLig) 2 meTey eflansdeid 2 e efl&lsiomEio,
(A) * uriy @ fevssEwd (B)  =iwss deséEn
(C)  miniy eflenad@id (D)  A&sds0 eflenss@id
142.  The continuity equation in three dimensions in Cartesian co-ordinates is
f N U gy T8 0,
ox 0Oy oz ox* oy o0z
ou v ow Pu v w
C —_—t—4+—=1 a9 g 1
© ox oy oz @ ox* @yt a2t

peny Liflemrmobisafier Ggmit swerun® s edwen sykisafod Epaasa_aum eupsembd

(A) a_u+a_v.+a_w=0
O0x 8y oz

© w0 ow_ .
ox 08y 0z

*u % w

=0
(B) = e e
2 2. a2

D) du ov w -1

+ =
2 oy | o2t

The force exerted by a jet of water on a stationary vertical plate in the direction of jet is

\MPG‘”

D) paV?

@ b srer Heowss Cengssnar s gear Gom Gurgid Cung, i sreny Gaeogib Hensufed

143.
given as
A)  paV
© pa*Vv
gudw ellens
(A paV
(C) pa®V
ACE/18
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B) paV”®

D) paV?




144. For a given discharge in an open channe] at critical depth
(A) the total energy is minimum
the specific energy is minimum
(C)  the total energy is maximum

(D) the specific energy is maximum

om Hpps srdamio 2 iiw psH o AT L gl dds5806.
(A) Gurgs ppa s Geapeuns G méa Ceueir(HLD

B) Sl syppa s Gapeuns @ s Geuemr(Hid

(C) Qurss 2pod s flswrs @més Gaam @

D) A appa s siflswores @més CaamBid

145. The wetted perimeter of a triangular channel of depth ‘y’ subtending an angle of 26, the

wetted perimeter is

\M 2y sec 0 (B) 2ytané

(C) 2ycosect (D) 2ycos @

Q@ p&Carem sroaimuilen 2yl Y WHHID AFET STLIGITET ussRseTTa Sruslu@D Caramd 20
arafler, 2ibs anaeumuiler FIF HHparal
(A) Z2ysect (B) 2ytanéd

(C) 2ycosect (D) 2ycos @

146. For lacing bar, if @ is the angle of inclination, then

(A) 40°< @ <60° (B) 30°< @ <60°

y409<0<70° D) 30°< 6 <T70°

Qenenpgiamgp@ 0 eranig smieys Gamemrd erafled, SLQuTE
(A) 40°< @ <60° (B) 30°< @ <60°
(C) 40°<@ <70° (D) 30°< @ <70°
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147.

148.

A circular plate of diameter 1.2 m is placed vertically in water such that the centre of
pressure is 2.5 m below the free water surface. The total pressure is

(A) 175kN (B) 20kN

M:ZT.?OkN (M) 30 kN

@m 1.2 5 el gperer aul L s&@ ey Gem@dsns fpaESESLILL (ReTengy. eul L &L gen enowitb
fiflen Cuodwl L sHamba 2.5 8 epipése 2 enang). e tgen G Blan Quonss siwpsssdlen wdiy
(A)  17.5kN (B) 20kN

(C) 2770 kN (D) 30kN

The Symon's rainguage has a collecting area of diameter

M 12.7 em (B) 10cm

(C) 5.08cm (D) 254 cm

sLoene wanpioraflida, wen Caafla@h LgEdufer ofl L b
(A) 127 Qs.8 (B) 10Qs.8
(C)  5.08 Q.8 (D) 2.54 Q&8

149.  The specific speed of a turbine is expressed as
NAP g NVP
W B <
NP NP
(C) - s, £ 38
H.. Hﬁ/-‘
2@ ellesumflufien HLGCL Casb Epasam_aummy
@ NP @ NP
H H
© NJP o NP
H* HY'Y
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150. The velocity head is

ey L i)

@wmi aufiGu Qadgid Hraurisafien, Ceusglen Flmen

@A) = (B)
g

() SR D) —
(C) 22 (D) 77

151. The suitable method of disinfection of swimming pool water 1s

/ ultra violet rays treatment

(B) lime treatment
(C) chlorination

(D) use of potassium permanganate

Bésdd Gersdle G,smj)gj Baan Qs Qurmssorer dawdapen
(A)  yp eagn sflise

(B) seawemrmbL| Qawdapen

(©) @CamfiCeanppLd

M) QumLrélwib uiorisGen LweTUHSHSTD
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152.  The effective size range of rapid sand filter is
(A)  02mm-0.3 mm (B) 0.15 mm - 0.25 mm

M 0.35 mm — 0.5 mm (D) 0.25 mm - 0.3 mm

2$lGeua wemed euig s g ufléh auig s 1g Quimmaflcn LILIGIGTET iaTay
(A) 028850385 (B) 0.15u8.8-0.25 8.8
(C) 035 8.85-0.50 8.8 (D) 0.258.8-0.30 .48

153. The BOD of safe drinking water is

(A) 0.5 ppm \ﬂ( 0

(C) 0.3 ppm (D) 0.1 ppm

ungiaraunen @i hflé @mas Ceuaigw o ullfsmi 2 Witreuafls Caeneu (BOD)
(A) 0.5 ppm (B) 0
(C) 0.3 ppm (D) 0.1 ppm

154.  The function of an equalizing tank is to

(A) Hold excess water

J Provide constant supply for a fluctuating demand
(C)  Store water for emergencies

(D)  Prevent fluctuation in pressure

swe&EGD Cgm_iguier Qeweaur®

&) Bgdwren Beny Caillsg Qameren

B)  ghp @pésnisdr o mw sareti Cameuamw swrafiés fleewnar sieray sereai GULIEIG
©) Opmésgwren Crrsdod Comaiu@d ganeaiany Coflis meidss

D)  S(wss THD @ésisma 5HEs
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155. When there exists a strong super adiabatic lapse rate above a surface inversion the plume is

said to be
(A) Fumigating plume (B) Coning plume
(C) Fanning plume J[ﬁfting plume

@ Cuopuriy seadprg Galuflanss Cute umwrer Wos Qeuiuworpr Qaitiublene aipas
e Q(méEELCUNg ghudb Yaagdamyaer
(A  yeswl Lo yamssdlarser (B) &ibyeugel Lamasdleaysdr

(C) eflyb ymasdlayser (D) 2wCry ey Yeasdleaysar

156. The optimum value required for maintaining the moisture content during composting
process is

(A) 75% (B) 45%

G 55% D) 35%

ameunssd Aswaapampuiean Gurg CamauiLBIb 2865 FILUSLD
(A) T5% (B) 45%
() 55% (D) 35%

157. The characteristics of activated sludge is
M Golden brown colour with flocculent suspension
(B) Dark brown colour with flocculent suspension
(C)  Grey colour with odourous slurry

(D)  Black colour with offensive odour

Qawgnss Capblen Lmermanin

(A)  sisugiy Bpw, Hemid Bssse

B) @mer Ll Bpw, Syl BI5HED
(C) ambué Rpb 2w prpibloenns Camy
D) sgoy Apb. HAGTHOD
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158. The true colour of water is measured on

(A) Silica scale

M Platinum cobalt scale

(C) Nickel scale

(D)  Platinum scale

sematilen o arawwirer Bp Spssar oareCardd SieTEsumd
(A)  Adléssr sereyCared

(B)  Qeriigemb Camumer. <jereyGamed

(C) Hlésa siereyCana

(D)  Qerriigeambd SjaraCGame

159. The total area of perforations in the under drains of rapid sand filter will be
(A)  0.5% of total filter area
(B)  0.7% of total filter area
M 0.2% of total filter area

(D)  20% of area of manifold

GoDHtaus ward augs usalld o drer Epul L agstasafa BméEb goasdfa Qurss

(W], (WIS oY

(A) Qurss augs yuller uriiueredle 0.5%
(B)  Qurgs augs guller uiuaredia 0.7%
(C) Cords eun s guller Lpliuerefld 0.2%

D)  Qeem@pmnfen Lriuerelia 20%
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160. When compared to the circular sewer, the advantage of an egg shaped sewer 1s
(A) Economical
(B) More stable
\M Provides better self cleansing velocity at low flow

(D) Easier to construct

aul L euigefloner sflaibear Gerew el apre angeflerer sfleyfit Gomi Spéaam Hareno
siafl&Smg

© (A Sssennneang
(B) =dls fleovawneng
(C) @onbs elib paQumbd Curgid Spps saaflow Jwssd umnle Cussas i
Yedlng

(D) eaflgrs s apraug

161. According to Land Acquisition Act 1894, Section 49 refers to
(A)  Rules for the amount of compensation
(B) Forms of award
(C) Temporary occupation of waste or arable land

M Acquisition of part of house or building

flové enswsiL@Eso sL1b 1894 Ger Lig uEs 49 Qess GHasns
(A) plL F@ AgrensssTen A faEnEans

B) gdadbsafldn auigeumiser

©) shspan swag ellmanblosild BHET&SIDNS AEHANOSHD

(D) o SH sdwg syl s LGH®LS @& WsILHSH SO
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162.  Which among the following is not the objective of zoning?

To lesser congestion in streets

y'l‘o alleviate urban poverty

(C)  To prevent over-concentration of population

(D)  To promote health and general welfare

Slemeumeueneupled erg e ewrEGsedlan Crréstd sidew?
(A)  diflsefler ApMemes Gapssn

(B)  par aumewenu L RUUBHESS0

€)  <fls wssaQsras Cladleneug 5[ &

D) 2L dpe whmb Gurgere Gurgimasans apenGendmige

163.  Which among the following in not for a Residential FSI for a typical town?
A 4 (B) 3

Mz D) 1

THSHSETL_ren BESHSDHE, Slemau meueneudmieT erg) @ iqufmiiy eul Ly F.S.1 @Aevenen
A 4 (B) 3
© 2 M) 1

164. Compensation and betterment of land is the out come of

\K Uthwatt Committee - (B) Barlo Committee
(C)  Scott Committee (D)  Winston Committee

FHEFLSD wHmID HeosHear Cuobun® Aeme @san dilenearay @io

(A)  egeaur’ sy (B)  umiGer &l 1
(C)  avsm &bl (D)  eflemevLer s
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165. The method that results in better serviceability performance under usual working loads
(A) Load factor method (B) Limit state method
(C)  Ultimate load method M Working stress method

Aawdu® LEpssdar AewauBb@unps. Anbs LLEmL LD Qewadnamen AarTH&EED (penm
(A)  sewssnyeRt pap (B) agwyfleae apenn
(©C) emdiueEspa (D) uefiyfl sensey (perm

166. Compressive strength of concrete having modulus of rupture 3.5 MPa as per IS 456 : 2000 is

(A) 20MPa - (B 30 MPa

W 25MPa | (D) 35MPa

IS 456 : 2000 — an Ui, aphleysGsqp 3.5 MPa Garar, spsrmdler Gniss auelento-
(A) 20MPa > - (B) 30MPa
(C) 25MPa (D) 35 MPa

167. The following are used to neutralise the effect of expansion or contraction of roads due to
variations in temperature

(A) Tappet-Locking
Temperature compensators

(C) Connecting devices

(D) Lock bar

Qasiuflene wrpuUM LT steuiier gpu®D dflged Ddeg smEEGSMNE swabsiu G
vweuB&sULGEDS)

(A) Qués aupridll L@

B) Qeuuflene swenl(Hsdsen

(C) @emantiLié smedlser

D) Y Hbsiem

p 65 ACE/18
[Turn over




168.  Which of the following is not a PERT event?
(A)  Site investigation started
(B)  Sessional work completed

(C)  Bus starts from Chennai

M Class is being dttended

Spssam_cupble erg) PERT flspey @dama
(A)  senbd gpuiiey rbdEsiu L g

(B)  ewieyliuesfl wpgssiiu L

©) CGumps Aesneeaniemps fembuydps

D)  auysmer swallds Qaramg misa

169. If quantity 'A' has a weight of ‘3’, then the weight of % will be

A) 24
M 27
© 9
D) 3

'A' eren sjenellen renL gl ‘3’ aaﬂé)%@dn sTenL iy

(A) 24
(B) 27
© 9
(D) 3
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170.

171.

172.

The aspect ratio of the fibre is the ratio of
(A) its diameter to its length
(B) its surface area to its diameter

its length to its diameter

(D) its length to its cross sectional area

@enpufien sapellflgid erenuig) Spssem_aumler g
(A) e efllLib wHmid Herd

(B) =ygen Cupupinarey whmid efliiL b

(C)  =igen Fanb opmitd e8I L tb

(D)  sigen Heand wHHd GNEES Geul (B LuusTay

Minimum cement content required for reinforced concrete works for severe exposure of M20
grade is

(A) 300 @/ 320

(C) 350 (D) 375

sHevwwren Hewse Qeuefiiui. M20 s7 cugigptigw Hamarery Camasd Csameulu@o

GeonhsULs HQwearr_ jeare
(A) 300 (B) 320
(C) 350 (D) 375

The optimum number of revolution over which concrete is required to be mixed in a mixer
machine is

(A) 10 (B) 15

\V 20 (D) 25

SHemasnery sw@mal  THHTHHD so@maumLEs sasss GCsmaiwrar Qulzib ‘p_es;_isg e

crament&Eens
(A) 10 (B) 15
(C) 20 (D) 25
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173.  In order to prevent piping, the exit gradient should be
(A)  Equal to the critical gradient
(B)  Not a function of the critical gradient

Greater than the critical gradient

MMuch less than the critical gradient

SlotyemrGumn_Lgmss sOULSHE Geueflapanens sfley @euaumm @ méis Cauam@id
(A)  ewwé sfeflih@és swwons

B)  2wwésflmea AuTmss Gdme

©)  2uwwésfmaeiL sifswors

D) ziws sfieael fsabd Gmpeurs

174. Name the soil condition for which the Darcy’s law of flow through soil is invalid

(A) Dense sand

(B) Fine sand

M Gravel

(D)  Sandy clay

b eueamswTen wenblerwse Lnifufen werenflen an fiumicugpster eild Qeergiiguirsng

GTEE &aMEyLD

(A) eisdurer wewrd
(B)  mewrenfiw wemreéd
©) ayevars s

(D)  wewpurRETEe Hafliner
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175. The value of building at the end of the utility period with out being dismantled is
(A) _ Scrap value
M Salvage value
(C) Market value
(D) Book value

wwenuBssiul L srwddda @ndulld ARssiuLmod 2 drer Hlawulld o drer sliglL Sl wHliy
Geueurm ienpassHEmns)

(A)  afleyds Qumr@mer wdliy

(B) By wdiy

(C) sheng AL

(D) gLi®wiiy

176. The following is the anticipated or probable cost of a work and is usually prepared before
the construction

(A) Rough cost
(B)  Actual cost
(C) Workable cost

y Estimate

Gemaimeugl e Camaulear afiurmssiull. dag Guessmipu Cswangb. Gogid G
aup&aons s HurasdnE peanargrsGeu swmt @alwtiu@ib

(A) Camymwuwren Qaewey

(B) o awmenwwnen Qeaway

(©) peorgapuu@ssiuL Gswey

D)  wHLSE

177. In a detailed estimate the provision for electrification works is usually
(A) 5% B) 6%

©) % S 8%

efleumorer AU g6 e @emari CaimasEnéd aipsswons Geaeuae seaflsslu@Epg
(A) 5% (B) 6%
©C) 7% (D) 8%
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178.

Cubic contents shall be worked up to the nearest
(A) 0.04 cum (B) 0.03 cu.m
(©  0.02cum P 001 cum

san jeneila) o_drer jareysaT QsMHE maraouid wHUEL UL GauamHid

(A) 0.04 cum (B) 0.03 cum
(C) 0.02cum (D) 0.01 cum
179.  In specification of earth work in foundation trenches, drains etc, specified lead is
(A) 10m (B) 15m
(C) 20m P 30m
s@Lssme) uetend, B ewgsrd pfuaplipsrer wanr CsranGb uemfissrar safls@Hub Lo,
GO Berer aper aufl BLsSluflen 2jerey Ggeun@nd
(A) 10m B) 15m
(C) 20m (D) 30m
180. Structures with 100 years life, rate of depreciation (rd) is taken as
W 10 ®) 13
(C) 2.0 (D) 4.0
em 100 yaw® arpprer sroew slglddar wHuGpoy (rd) Qaarn aHE5E
QareareriuBEms)
(A) 1.0 (B) 1.3
(C) 20 (D) 4.0
181. Gross rent = Net return +
W Outgoings (B) Sinking fund
(C) Depreciation value (D) Taxes
L OCWTESs eur_ena = flay eugmeaumis +
(A) Qeueli#@sdeb B (B) s_ang fld
C)  wALGYOY Oy (D) aflsar
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182.

183.

184.

185.

As per IS 456 : 2000, Maximum diameter of reinforcing bars in slab of having 128 mm
overall thickness is

(A) 20 mm u(' 16 mm

(C) 12mm (D) 10 mm

IS 456 : 2000 e g, 128 8.5, @ HGWEs Sy wg)dmer uasddlo,wadu agiap B swllsaten
<fls ulg el b

(A) 204845 (B) 161845

(C) 12.8.6 (D) 1048

Multiplication factor ‘k’ for increased shear strength of slabs having thickness less than
150 mm is
W 13 ~ B) 1.2

(C) 1.1 : (D) 1.0

150 8.8 &b @Gopaura  Sgo@eLy  uesksdld fsoner ppés adl@wésTs
LwenuBasuuGn Qumsh smyenfl

(A) 13 (B) 1.2

© 11 (D) 1.0

Maximum value of spacing of inclined shear reinforcement with @ =45, in beam of
300 mm effective depth is

(A) 225 mm (B) 250 mm

(C) 275 mm ySOO mm

300 15148 Lwigneer sppb Qane el L Ao, a=45" 2 dmer smips pMIES ugias b sbiSsefer
2flsuls @en_Geuafl

(A) 22588 (B) 2508.8

(C) 27588 (D) 300.8.8

Torsion induced by eccentric loading with respect to shear centre at any cross section 1s
termed as

\W Equilibrium Torsion (B) Compatibility Torsion

(C)  Secondary Torsion (D) Torsional stiffness

e Qeul () WpasHQID pOIEs wWH®S GHSs Fppenwls u(@pelleanme) gram LB PpOISHD

(A)  sufleoe pmssd (B) @@sew 1ppi&sD

(©) smoew (pUEED (D) appéEs eflemiiny
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186. Minimum percentage of longitudinal bars in pedestal is
(A)  0.12% of gross area of cross section
M 0.15% of gross area of cross section
(C)  0.8% of gross area of cross section

(D) 6% of gross area of cross section

@ SLgdle feriiumiig sblsellar gapphsul s eflwaand
(A) Qs GmseE Qe ® urtiuareile 0.12%

(B) Qunss @misE Qe @ uriueredlér 0.15%

(C) Qunss En&E.Ceu’( uriuereile 0.8%

(D) Qurss EmEE AaulH uriueareiie 6%

187. Hydrometer analysis is based on
(A) Darcy's law
(B) Columb's law

(C) Terzaghi's law

M Stoke's law

@anl_Gym B ugLumey Beag Sig L wrss Qe @ drearg
A)  LmirflGer el

(B) sagub ofld

(C) Qsienflulen eflf

(D) eCLrésmedian efild)
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188. The vertical stress intensity o, at a depth Z directly beneath a point load @ according to

Boussinesq is

M oy =3Q/2x Z*
B) o,=2Q/372°
(C© o0;=3@*/2zZ

M) o0,=3Q/272Z

QuedlQenav&dle sapmily ‘Q erenp yerefll LEs Gewdu@nd EGLsHmba * Z ' e sl
Qswau@b CréGss smsa] aTe) ‘62' @ geun@Ld

(A) o,=3Q/2r Z*

B) 0,=2Q/3x2°

(C) O’zl=3Q2/2ﬂZ

D) o0,=3Q/2x2Z

189. Negative skin friction on a pile
M Acts downward and decreases the load carrying capacity of pile
(B) Acts downward and increases the load carrying capacity of pile
(C)  Acts upward and decreases the load carrying capacity of the pile

(D) Acts upward and increases the load carrying capacity of the pile

gna sen_ssredlan Goé Aewdu@b edlifoamp o gmiey elems

(A)  &pCprad Qewau@dpg Cogib @g e samLsarelen LEh smhE Spameand Gonosng)
B) SpCrrsd AsuouBdpg Cogib Q&) siewr smn.iaamgﬂdn L s Snaeans sflafsdng
(©) GCuwaCprsd Qeuou@dng Cogib @& s smLsardlear L@ sThE Hpamans Gonasinsg

(D) CuaCsrsd Aaudu@dng Cugib @& siar smLssradler LEh sMmiG Spma sfsflssng
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190. When a sample of saturated sand is sheared under undrained conditions, then the
(A) Volume of dense sand decreases and that of loose sand increases
(B) Volume of dense sand increases and that of loose sand decreases
(C) . Volumes of both dense sand and loose sand decrease

Volume does not change
e Blenp Qsefleyiim weamererg Birauguwr flevawule spasiumd suGung
(A)  aigdunen werrellen e HiaTey GO WOHHID HeTTeure Wewrellan seansierey iHsfEELn
(B) e irsHuner wamellen san sierey siflaflEE b wHmb serreaurean T SATvETay GMDU|LD
(©)  irguner wpmib gemieurean Glyaw(H wenreaafan Het SjaTay GamULD
(D) searzierey LIPS

191. In an unconfined compression test, cross-sectional area at any instant of loading
(A,= original area, ¢ = strain at that load) is
@) e O

l+& l1-¢
©)  AQ+e) D) A(1-¢)
sLpor siapsss Cengemendd aps m Cprafaid Csgissuu®n ueselar Aurws GEE
Geu’ G uriiueTey @geur@nd (A, —3igd LgtiueTa), £ —SiHsL0 LEpeila Hfly)
@ ®
1+¢ l-¢
©) AQ+e) D) A,(1-¢)

192. The equation for determining the settlement (AH) of a clayey soil layer of original thickness
H,, existing under an overburden pressure of o, ,due to an additional load (stress) Ac is
given by, (C. 1s compression index)

M AH = C..H, o o, +A, B) AH - H, oy o, + A,
1+e, a, 1+e, o,
(©) AH = Cc. Hp logm Oy (D) AH = Ho logm Ty
1+e o, t+4, 1+¢ o, +A,
em H, aap suwaid o, eeam GopGegdsiiu L SwsssHaib 2 dar sefloar o@asreag Ao
aran s (HB Hense hE 2L LHSsLILED Curg SIS SWPESHOS Saédl o ga|b swearum)
Qavaury Qar@assiiu’Pararg - Gfa C, eramug) sipsss s _GLam @0
(A) AH-= C.H, o o, +A, B) AH o H, o g, +A,
+ €, a, 1+¢, o,
C.H o, H o,
C) AH=———2] - D) AH=—1"] °
© 1+e, og“’«'.:;,+Ao @ 1+e, 0gl°o;,+A,
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193.

194.

195.

A work sheet is a collection of

M cen

(B) Rows and Columns

(C) Mathematical functions
(D) Data

em uaflssrear cratug Geupblen Syere) @0

A  Adwued

B) Aeeuflensser wHmb Cemi@sg cuflenssen
(C) asaflas Qeweun@aer

D) . srey

Prior to printing, the text is stored in place for carrying out correction is known as
(A) Memory place
(B) Hard disc storage

(D) External storage
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Capturing of facts and figures are called as

(A) information (B) string

(C) reports Miata
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196. Generally the balanced field concept is applicable in case of
(A) jet engine aircrafts (B) turbo jet
W piston engine aircrafts (D) turbo fan
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197.  The objective of providing a point lock is
To ensure that the each switch is correctly set
(B)  To ensure that the point may not be operated while the train is on it
(C)  To detect any obstructions between tongue rail
(D) To change the direction of engine
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198. Wing rails are provided
(A)  near tongue rails
(B) near check rails
(C) near stock rails

\M in crossing
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199. When various signals for main and branch lines are fixed on the same vertical post, they are

called?

(A)
(B)

v

(D)

Repeating signal
Coacting signal
Routing signal

Calling on signal
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200. Fitch of the roof truss is defined as

Y

span / rise

\V rise / span

(©)
(D)

rise x span

(rise)? x span
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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

This Question Booklet contains 200 questions. Prior to attempting to answer, the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there. are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles @) .(®). © and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, ® is the correct answer, you have to mark as follows :

O} NONO)

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examina
examination. After the examination is led st ha

eet befor
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

Failure to comply with any of the above instructions will render you liable to such action dr penalty as
the Commission may decide at their discretion. ;




